
08-03-2021

for
Mini greenhouse 
0,39x0,76x1m

Manual



Mini greenhouse
Assembly instructions 

L x W x H  76 x 39 x 100 cm 



2 

Polycarbonate sheet

Size QTY 

A 342x995 2 

B 332x940 2 

C 326x992 2 

D 756x352 1 

A A 

B 
B 

C 

D 



3 

Rear 

# 001 002 003 005 a1 a2 

mm 1000 756 1000 756 M6x10 M6 

QTY 2 1 1 1 6 6 

001 

002 

005 

003 

002 

001 

002 

003 

A 

001 

005 

001 

A 



4 

  Front 

           

# 006 018 019 a1 a2 a5 a10 a12 m11 a16 

mm 756 1000 1000 M6x10 M6 M4 M4x8 Φ4.2X9.5 - M6 

QTY 1 1 1 2 2 1 1 2 1 1 

019 018 

006 

018 

a12 

018 

006 

006 

a10 

a5 

m11 
a16 



5 

Side

# 007 008 a1 a2 a3 a5 a6 a13 m5 p9 g1 004-1

mm 366 366 M6x10 M6 M4x22 M4 M6-L M4x25 - Φ6 180 366 

QTY 2 2 16 16 2 2 2 4 4 4 4 4 

008 

007 

007 

001 018 

008 

a3 

a5/a6 

008 

C 
008 

007 

004-1

004-1

004-1

004-1

004-1

C 



6 

B B 009 009 011 011 

012 012 

012 012 

Magnet 

Magnet 

  Door 

         

# 009 011 012 a1 a2 a14 a15 Magnet 

mm 994 984 320 M6x10 M6 M6x4.8 M6 - 

QTY 2 2 4 8 8 2 2 2 

012 

009 

011 

012 

019 

012 

009 

Square nut a15 

a14 

magnet 
012 

012 

011 

magnet 

a14/a15 

Correct without gap 

Correct without gap 



7 

Vent

# 013 014 015 016 017 a1 a2 a4 a5 a6 a7 a12 020 a10 a16 m11 

mm 756 366 764 764 205 M6x10 M6 M4x12 M4 M4-L Φ3.5x19 Φ4.2x9.5 742 M4x8 M6 - 

QTY 1 2 1 1 2 14 14 2 3 2 4 2 6 1 1 1 

016 

014 

a7 

a12 

014 
015 

a7 

017 

014 

a4/a5/a6 

a3/a5/a6 

a4/a5/a6 

a3/a5/a6 

017 

013 

015 

014 

014 

016 

013 

a4/a5/a6 

020 

020 

020 

004-1

Shelves are  
put on each floor 

a5 

m11 

a16 

013 



The list of parts 

#  Size QTY 

a1  M6x10 46 

a2  M6 46 

a3  M4x22 2 

a4  M4x12 2 

a5  M4 6 

a6  M4-L 4 

a7  Φ3.5x19 4 

a10  M4x8 2 

a12  Φ4.2x9.5 4 

a13  Φ4x25 4 

a14  M6x4.8 2 

a15  M6 2 

a16  M6 2 

m5  - 4 

p9  - 4 

g1  - 4 

m11  - 2 

mag-
net  - 2 

#  Size QTY 

001  1000 2 

002  756 1 

003  1000 1 

004-1  366 4 

005  756 1 

006  756 1 

007  366 2 

008  366 2 

009  994 2 

011  984 2 

012  320 4 

013  756 1 

014  366 2 

015  764 1 

016  764 1 

017  205 2 

018  1000 1 

019  1000 1 

020  742 6 



I

For more information 
please visit:
www.dancovershop.com

l

l

l
l

l
l

l

l

l

l
l

Dancover A/S 
Lyngevej 16A, Nørre Herlev 
3400 Hillerød 
Denmark

Head office: 


